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[ Second Year — March 2018 ] Cool-offtime * 15 Minutes
Part - 111
GEOGRAPHY
Maximum : 60 Scores
(One Map to Accompany)
/Genemf Instructions to Candidates : \

¢ Thereisa ‘Cool-off time” of 15 minutes in addition to the wnting time.

o Use the ‘Cool-off time’ to get familiar with questions and to plan your answers,

¢ Read questions carefully before answering.

o Read the instructions carefully.

¢ Calculations, figures and graphs should be shown in the answer sheet itself.

o Malayalam version of the questions 1s also provided.

o Give equations wherever necessary.

o Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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SECTION -A
(Answer all questions from 1 to 6. Each question carries 1 score.) (Scores: 6x 1=26)
1. The one which is not directly related to human development.
(a) Size of the temitory (b) Higher hfe expectancy

(c) Access to knowledge (d)  Access to resources

2. In Russia lughways are not as important as railways, because
(a) Highways are not as long as railways.
(b) Vast geographical area of the country.
(¢) Highway network is not that much developed.

(d) Vast chmatic vaniation in the country.

3. The lower limit of the population size for a settlement to be designated as urban in
India.

(a) 250 persons (b) 500 persons

(¢) 5000 persons (d) 2500 persons
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The cultivable land left uncultivated for more than a year but less than five years 1
called

(a) Current fallow (b) Fallow other than current fallow

(¢) Wasteland (d) Netarea sown

The port which is popularly known as ‘Queen of the Arabian Sea’.

(a) Kandla Port (b) Mumbai Port

(¢) New Mangalore Port (d) Kochchi Port

*Smog’ is due to

(a) Air Pollution (b) Land Pollution

(¢) Water Pollution (d) Noise Pollution
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SECTION-B

(Question Nos. 7 - 14, Answer any six. Each question carries 2 soores) (Scores: 6x 2=12)

Population decline 1s also a matter of concern as population growth. Examine.

Name the balance of trade that leads to the exhaustion of a country’s financial reserve.

Cite reasons for it.

Distinguish between the positive and negative growth of population.

10. Match the items in column A with that of B :

A B
(@) | 1930s through the inter-war period | Post modemism in geography
(b) [ Late 1950s to late 1960s Regional analysis
(¢) | Later colonial period Areal differentiation
(d) | Inthe 1990s Spatial Organisation

11.  Give two reasons for the low level of human development in most of the northern states
of India.
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9.

12, In Inda, females predommate in intrastate rural to urban migration while males
predominate in interstate rural to urban migration. Why ?

13 List out any four factors that determine the location of large scale industnes.

14, How does sectoral planning differ from regional planning ?

SECTION-C
(Question Nos. 15 - 22. Answer any six. Each question carrles J scores)
(Scores: 6x 3=18)
5. Identify the age - sex pyramids suited to Bangladesh, Australia and Japan and menfion
any one charactenistic feature of each of them.

16.  Even though Norway 15 smaller than the USA in size and economy, it ranks higher in
human development than the USA. Why ?
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Observe the map and answer the following questions :
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In the map, A and B represent a sea route and a trans-continental railway
respectively. Identify them.

Name the terminals of this trans-continental railway.

Why the sea route mentioned above is called ‘Big Trunk Route” ?
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I8.

Observe the diagram and answer the following questions :

Builldng
Read

(Scores : 2)
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(1) Identify any two rural settlement pattems found in the area depicted.
(1) Cite the reasons for the formation of such pattems. (Score: 1)
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Mention the factors responsible for the fast depletion of water resources in India.

Suggest a few measures for the conservation of water resources.

O1l from Kandla Port 1s to be transported to the refinery at Mathura. Suggest the

cheapest mode of transport here and list out its advantages.

Classify the following Indian towns on the basis of their evolution :
¢ Maduwa e Hyderabad
e Delh e Pataliputra

e Mumbai e Chennai

In India minerals are generally concentrated in three broad belts. Give an account of
them.
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20.
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SECTION-D
(Question Nos. 23-26. Answer any three. Each question carries four scores.)
(Scores: Ix 4=12)

23, State the differences between the cultivation of rice and wheat in India with respect to

the following :

o The main cropping seasons

o The state leading in production of these crops.

o The climatic region where they are primarily grown.

o India’s share in the production of these crops in the world.

24.  Mention the charactenstic features of any two Industnal regions in India.

| o ]
A

[ndustries can generally be classified on the basis of four factors. List out them and give

two examples for each.

26. Define the term transport. How can the transport distance be measured ?

g) yOked wmel afl eNBON UGN D COUUETION TS CUBIAHETO
TV 3,0 NAGKGD M), IICAM] BHIDEMAO W AWUSDIVA AfPOEIo 7 tae) allean
WL DA MO NP 20 BB TABe FASD 1.

Sddeiled  alanpe  aueolec  MALBEeM  UVLIVICEION PREIR  OROME)
CaR@MEATY a3 it}o al€)U] GOaED VOVUXE 2Beaaean aldaequdl g avoled
CARA A IP D60 |SYTION ).

AAODTNOR  @RSITUDIMGIIIE  apwes MEIVIFES IV aIgaNoNNg
AUB LA

* 20 * OOANBRIMOT

e AWal  © aRselan®

* eI & Sale¥)TN

gD o8 WomBeUd eapoiled e ailuner caaeiegledl e lledas-
OajFA6M). @O WENA 3] B3®) AUMAUDEMO BIYIN0HE)ds.

https://www keralaboard.com



28.

SECTION-D
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SECTION-E

(Question Nos. 27 and 28, Answer any one. 6 scores) (Scores: 1x6=6)

Explain about the various types of subsistence agriculture.

The distribution of population is influenced by several factors. Discuss.

SECTION-F

(Identify and mark the following on the given outline map of India) : (Scores: 6x1=6)

(a)
(b)
(c)
(d)
(e)
(f)

The major jute producing state in Incdha.

The major lignite field in Tamil Nadu.

The southern most software technology park in India,
The biggest container port in India.

The eastern most metropolitan ¢ity in India.

The geothermal power plant in India.
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